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1. 4,
25 30 35 40
1 15-2 25<
0 335 37 45 18 a
1-2 164 33 41 26 5 6 5 -
3 21 9 43 48 b 0 2 1 -
0 45 62 31 7 a
1-2 332 37 46 17 b
3 140 22 41 37 c 4 - 7 6
0 306 42 43 15 a 0 - 0 2
1 134 28 46 26 b 26 - 38 49
2 75 19 44 37 b 34 - 6.0 86
ab P<0.05 a b 0.05
—+—25
2. 2 BCS 66 - m -3
6.4 ---A---40
62 =& :
2 AN
T 60 - .\'/ i
B -
50% 335 277a 282 306 952 364% 20 412 58 N A
50% 3.37 297b 285 3.00 768 500% 2.1 39 5.6 AA_A
ab p<0.05 54 AP
3 7 10 14 28 56
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. pH
5.
37 100 13 100 24 100 m
27 73 9 69 18 75 !
2 2 3 11 0 0 3 17 40% 40 60%  60%
3 1 7 26 3 33 4 22 1 0 69.6 30.4
20r3 17 63 6 67 11 61 1-2 16.7 66.7 16.7
10 27 4 31 6 25 2 33.3 33.3 333
6.
m/s 113 083 0.83 1.05 102
/s 0.72 067 0.65 0.70 0.81
m 158 125 1.28 1.50 1.26
cm 440 3.80 16.80 3.30 21,50
[=! [ O O | 100 T >
2500 80 —
E 2000 60 O H
1500
40
1000
500 20
0 0
2 4 6 1995 1996 1997 1998 1999 2000 2001 2002
2002
2. 3.
1
2
3
4

1)




